£k EH B 28.5.23 | H28.8.24 [H28.11.21] 29.3.1 | o oo | g | mig

R KB Z

K&

SR (°c)

2IKFE (m)

EEAE (m)
~ k= °c) 15.4 18.9 13.2 4.6 18.9 4.6 13.0
5 |oH (KEAA VRE) 1.5 7.2 1.5 7.8 7.8 7.2 7.5
g |po (BEBE) (mg/L) 4.5 0.8 1.6 = 5 4.5 0.8 2.3

DOgFIEE  (EEEMBMME (%) 44 9 16 = 3 44 9 23

coD (EHBEERE) (mg/L) 3.1 2.8 3.4 4.0 4.0 2.8 3.3

BOD EmieznmrsExe) (mg/l) 1.1 1.5 0.5 1.2 1.5 .5 1.1

ss GEBEMES)  (mg/l) 2.6 6.5 2.5 8.7 8.7 2.5 5.1

T-N (2E%) (mg/L) 0. 30 0. 50 0.39 0. 26 0.50 | 026 0.36
s |1-P (2Y A) mg/| 0028 | 0045 | 0036 | 0020)] 0045 | 002 | 003
% |NH4-N (7or=7EER) (mg/L) 0.07] 0.3 0.08 .01 032 .01 012
::2 NO2-N (BREBEES)  (ng/L) 0.001| <0.001] 0.006 | <0.001] o0.006 | <0 001] o0.002

NO3-N (EEEZER)  (mg/l) 0. 01 <0.01] 005 <0.01] 005 .01 0.0

PO4-P (YABEYA)  meg/L| 0010 | 0008 | 0.013] <0.003] 0.013] <0.003 0.008

p0n74ha (ug/L 3.1 5.2 5.4 13.9 13.9 3.7 7.0
;Eﬁ H0n744b (ug/L 0.5 1.5 1.4 1.8 1.8 0.5 1.3
s |7007400 (ug/L 0.3 0. 1 1.1 4.8 4.8 0. 1 1.6

S 1A% (ug/L 3.2 3.2 3.0 10.8 10. 8 3.0 5.0
;‘) cl— (EIEMA4>)  (mg/L) 8.0 8.5 8.4 8.4 8.5 8.0 8.3
| _|EC (BSEEE)  (nS/m) 11.6 16.5 13.2 11.5 16.5 1.5 13.9
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R Bk manl |50 Heammn e s
B®KEARRB H28.5.23 [ H28.8.24 |H28.11.21| H29.3.1 BB 2B T8
RKEFZI 10:58 10:32 10:40 10:50
Xz i = £ i
] (°c) 27.5 28.0 15.1 3.9 28.0 3.9 18.6
2 KR (m) 1.0 5.8 1.0 1.0
ERE (m) 1.1 4.5 3.2 2.0 4.5 1.1 2.1
?& KR (°c) 22.8 29.1 13.8 5.1 29.1 5.1 17.7
18 pH (KFBEAFVIEE) 9.2 1.8 1.6 1.9 9.2 1.6 8.1
B (DO (BHEER) (mg/L) 10. 7 6.5 11.1 R 11.1 6.5 9.4
DO #0 (BHEERBNE) (%) 124 85 107 R 124 85 105
GOD (ULPMERERE) (mg/L) 1.9 3.0 3.8 4.1 1.9 3.0 4.7
BOD (epegmEmrsExrs)  (mg/L) 4.1 0.4 1.2 1.1 4.1 0.4 1.7
SS GZEYMEE) (mg/L) 7.9 0.6 2.1 8.7 8.7 0.6 4.8
T-N (2EF) (mg/L) 0.92 0.21 0.39 0.26 0.92 0.21 0.44
% [I-P (2Y A) (mg/L) 0.038 0.015 0.033 0.018 0.038 0.015 0.026
# [NH4-N (FUE=TRER) (mg/L) <0.01 <0. 01 0.05 <0. 01 0.05 <0.01 0.01
g NO2-N (FEIHEREER) (mg/L) <0. 001 <0. 001 0. 007 <0. 001 0.007 <0. 001 0.002
" [NO3-N (HEAREEHR) (mg/L) <0.01 <0. 01 0.04 <0. 01 0.04 <0.01 0.01
P04-P (YAREEEY A) (mg/L) 0. 005 <0.003 0.009 <0.003 0.009 <0. 003 0.004
Jan74la (ug/L 43. 6 1.3 8.8 12.5 43.6 1.3 16.6
% hnn74hb (ug/L 0.5 0.3 1.2 2.3 2.3 0.3 1.1
%5 (4007240 (ug/L <0. 1 <0. 1 1.8 5.4 5.4 <0.1 1.8
PEYR=E (ug/L 4.2 1.0 3.2 9.5 9.5 1.0 4.5
j‘; Cl— UEleA A V) (mg/L) 1.9 8.9 8.3 8.4 8.9 1.9 8.4
| [EC (EREE) (mS/m) 8.2 10. 5 10.5 8.6 10.5 8.2 9.4
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4 FEOHhREKEAERER
mE | wme a0 i 5 =& (No. 3) FEREL
A ¢l
194F i | 204F [ | 2145 i | 2245 i | 2345 i | 2445 & | 2545 i | 2645 i 2745 i 284 i | BARME
o H - 74| 74| 73| 79| 75| 79| 78| 77 77| 84| 65~85
po |mg/t| 95| 86| 115 94| 92| 100| 99| 102 971 12| >75
BOD|mg/t| 32| 28| 39| 24| 20| 20| 19| 17 24| 37| 2~3
coD|mg/tz| 56| 56| 56| 52| 54| 53| 62| 57 69| 63| 3~4
T—N|mg/¥ 17| 16| 18| 20| 18| 17| 15| 186 19 14 1
T—P |mg/t | 0.086| 0.081| 0.080| 0.097| 0.085| 0.095| 0.119| 0.10| 0.15| 0.11| 0.05~0.06
Ss |mg/t 14 19 13 16 16 17 27 24 36 21| <10
FEHE| m 07| o8| o8| o06| 07| 07| 04| 05 04| 06 >1
X1 TERIIEEFETIEFEI2E., TR0 FENSFEIARNFAEDHER
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FDHKE

AEHRR (TR 28 £E)

Bk R TREEBH

R No.1 (ZZEREFPRA) EREA
A EEMBENEHEEY S —

RAEAR 58238| 8H22A| 11A21A| 28208

27K B %I 11:20 11:15 11:20 11:07 "X Bl T

P i £ £ g

SR c) 32,5 32.0 16.5 8.0

REUK R (m) 0.5 0.5 0.5 0.5

2KR (m) 1.6 17 1.6 1.6

BHE (m) 0.6 0.4 0.7 0.4 0.7 0.4 0.5
—| %E& cc) 225 29.0 15.0 74 29.0 74 18.5
I‘é p H 9.1 8.4 7.3 7.2 9.1 7.2 8.0
B| po (mg./L) 15.2 114 7.8 11.2 15.2 7.8 1.4

DO (%) 175 148 78 93 175 78 124

cCoD (mg/L) 7.7 9.8 34 3.9 9.8 3.4 6.2

BOD (mg./L) 3.4 7.2 0.8 0.9 7.2 0.8 3.1

Ss (mg/L) 14 28 10 14 28 10 17

ABE RS (VPNA00ML)| 49E+02 | 1.4E+04 | 4.9E+03 | 3.3E+02 | 1.4E+04| 3.3E+02| 4.9E+03

NH,—N (mg L) 0.01 <0.01 0.18 0.14 0.18 <0.01 0.08

NO,—N (mg/L) 0.026 0.004 0.013 0.010 0.026 0.004 0.013
#| NOg—N (mg/L) 0.43 0.04 1.6 1.2 1.6 0.04 0.82
E Org-N (mg./L) 0.83 1.4 0.31 0.62 1.4 0.31 0.79
Bl T-N (mg/L) 1.3 1.4 2.0 2.0 2.0 1.3 1.7

PO,—P (mg/L) 0.009 0.012 0.013 0.023 0.023 0.009 0.014

T—P (mg./L) 0.10 0.21 0.062 0.11 0.21 0.062 0.12

hnn74la (Mg/L) 44 120 9.9 8.8 120 8.8 46
& | son74ub (Mg/L) 3.6 1.0 1.8 1.1 3.6 1.0 1.9
fﬁ han74he (Mg/L) 7.3 0.2 4.1 1.2 7.3 0.2 3.2

JIABRE  (HesL) 15 8.2 3.2 4.4 15 3.2 7.7

cl- (mg./L) 15 14 18 14 18 14 16
| Fe (mg/L) 0.33 1.1 0.52 1.1 1.1 0.33 0.76
1013 D—Fe  (mg/L) <0.05 0.10 <0.05 | <0.05 0.10 <0.05 <0.05

EC (mS./m) 17.7 19.4 215 18.0 21.5 17.7 19.2
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®K: RETIREEBH

h = No.3 (P REFEH) #F 2 1 B
S BEMBENEHREL 54—

REAR 5A23H| 8H22B| 118218| 2H20H

KBzl 10:48 10:40 10:50 10:40 Bx el T

Rz B = = g

Km c) 28.0 315 17.7 8.0

FREUKE (m) 0.5 0.5 0.5 0.5

2KR (m) 1.8 1.8 1.5 1.8

BHE (m) 0.8 0.4 0.6 0.4 0.8 0.4 0.6
—| XkE& cc) 21.0 30.5 13.5 6.6 30.5 6.6 17.9
ﬁé p H 9.1 9.2 7.6 75 9.2 75 8.4
B| po (mg/L) 13.1 1.2 8.7 11.9 13.1 8.7 11.2

DO (%) 146 150 83 97 150 83 119

cCOoD (mg/L) 6.3 10 4.4 4.3 10 4.3 6.3

BOD (mg/L) 3.2 9.2 1.4 1.1 9.2 1.1 3.7

Ss (mg/L) 10 33 17 22 33 10 21

KipEa% (MPN/10OmL)[ 1.4E+03 | 4.9E+03 | 4.9E+02 | 1.7E+02 | 4.9E+03| 1.7E+02| 1.7E+03

NH,—N (mg L) | <0.01 <0.01 0.22 <0.01 0.22 <0.01 0.06

NO,—N (mg-L) | 0.020 0.001 0.014 0.007 0.020 0.001 0.011
#| NOg—N (mg/L) 0.38 <0.01 0.78 1.2 1.2 <0.01 0.79
E Org-N (mg/L) 0.68 1.3 0.44 0.68 1.3 0.44 0.78
Bl T—-N (mg/L) 1.1 1.3 1.4 1.9 1.9 1.1 1.4

PO,—P (mg-L) | 0.004 0.038 0.018 0.017 0.038 0.004 0.019

T—P (mg/L) | 0.070 0.20 0.068 0.11 0.20 0.068 0.11

hnn74la (Mg L) 27 110 13 14 110 13 41
& | son74ub (Mg L) 1.9 4.4 1.9 0.9 4.4 0.9 23
z hnn74he (Mg L) 43 <0.1 2.0 1.4 43 <0.1 2.6

JrABE  (HesL) 9.2 11 7.9 8.7 11 7.9 9.2

cl- (mg/L) 14 15 16 16 16 14 15
| Fe (mg/L) 0.25 0.78 0.42 0.92 0.92 0.25 0.59
fé D—Fe (mgrsL)| <005 | <005 [ <005 | <0.05 <0.05 <0.05 <0.05

EC (mS./m) 171 19.3 19.6 17.8 19.6 17.1 18.5

163 -



BK: RETIREEHM

s No.5 (dbZ[EiR) A
S BEMBENSHREEL 54—

REAR 58238| 8H22A| 11B21A| 2B20H

RKEFZI 10:05 10:00 10:00 9:55 Bx b T

Xz i £ g o)

R c) 28.5 315 16.3 75

KR (m) 0.5 0.5 0.5 0.5

2KZE (m) 0.9 0.8 0.5 0.7

EIHE (m) 0.5 05 [|>0.5(£&) 06 0.6 0.5 0.5
—| K& ) 20.5 27.0 15.5 8.9 27.0 8.9 18.0
Ié p H 7.7 7.4 7.4 7.3 77 7.3 75
B| po (mg./L) 8.5 7.1 8.4 11.9 11.9 7.1 9.0

DO (%) 95 89 84 102 102 84 93

cCoD (me/L) 4.9 4.4 3.0 3.3 4.9 3.0 3.9

BOD (mg/L) 1.2 1.0 <0.5 0.5 1.2 <0.5 0.9

SSs (me/L) 17 29 15 18 29 15 20

KB E A (VPNA0OML)| 49E+03 | 3.3E+04 | 3.3E+03 | 2.4E+02 | 3.3E+04| 24E+02| 1.0E+04

NH,—N (mg/L) 0.02 0.04 0.12 0.04 0.12 0.02 0.06

NO,—N (mg/L) 0.009 0.007 0.012 0.008 0.012 0.007 0.009
#2| NO3—N (meg/L) 0.87 0.72 1.7 1.3 1.7 0.72 1.1
E Org-N (mg./L) 0.46 0.44 0.27 0.26 0.46 0.26 0.36
|| T—-N (mg./L) 1.4 1.2 2.1 1.6 2.1 1.2 1.6

PO,—P (mgrL) 0.020 0.017 0.019 0.019 0.020 0.017 0.019

T—P (me/L) 0.10 0.12 0.064 0.072 0.12 0.064 0.089

han74la (Mg/L) 10 18 2.1 4.2 18 2.1 8.6
81 sooyb (esD) 26 3.1 0.9 0.3 3.1 03 1.7
z hnn7 e (Mg /L) 0.7 <0.1 28 1.9 28 <0.1 1.8

JrABE  (HesL) 6.2 8.1 0.8 36 8.1 0.8 47

ci” (meg/L) 11 11 14 12 14 11 12
Z| Fe (me/L) 0.79 0.86 0.56 0.73 0.86 0.56 0.73
@ D—Fe (meg/L) <005 | <005 | <0.05 0.06 0.06 <0.05 <0.05

EC (mS./m) 15.2 17.0 19.7 17.7 19.7 15.2 17.4
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BK: BETIRRESEHMN

th = No. 6 (FfHER) AEHE
S EEMBENEHEEY 2 —

AEAR 5H23H| 8H22B| 11A21R| 2A20H

Rk 10:25 10:20 10:25 10:18 Bx b FH

Xz 5 = 2 £

KB cc) 28.8 31.8 16.5 9.0

FREUK R (m) 0.5 0.5 0.5 0.5

2KR (m) 24 22 2.0 2.6

BIE (m) 0.6 0.6 0.6 0.4 0.6 0.4 0.6
—| K& cc) 22.0 30.0 13.0 6.6 30.0 6.6 17.9
f; p H 8.8 8.5 76 75 8.8 75 8.1
B| po (mg./L) 12.2 8.9 75 12.0 12.2 75 10.2

DO (%) 140 118 71 98 140 71 107

cCoD (mg/L) 6.0 6.2 3.8 4.1 6.2 3.8 5.0

BOD (mg/L) 3.3 2.1 0.7 1.1 3.3 0.7 1.8

SSs (mg/L) 14 12 16 20 20 12 15

ABEEH (MPNA0OML)| 1.3E+03 | 3.3E+03 | 1.3E+03 | 1.3E+02 | 3.3E+03| 1.3E+02| 1.5E+03

NH;—N (mg~ L) 0.01 <0.01 0.29 <0.01 0.29 <0.01 0.15

NO,—N (mg-L) | 0017 0.005 0.016 0.007 0.017 0.005 0.011
#2| NOz—N (mg/L) 0.42 0.14 0.91 1.2 1.2 0.14 0.67
E Org-N (mg/L) 0.65 0.72 0.33 0.47 0.72 0.33 0.54
Bl T-N (mg/L) 1.1 0.86 1.6 1.6 1.6 0.86 1.3

PO,—P (mg-L) | 0.007 0.028 0.018 0.016 0.028 0.007 0.017

T—P (mg~L) | 0.085 0.10 0.067 0.088 0.10 0.067 0.085

pma7qba (Mg /L) 28 42 76 14 42 76 23
& soo7b esL) 2.2 10.0 1.8 0.9 10.0 0.9 3.7
z pmuzqhe  (MesL) 3.2 <0.1 3.3 1.4 3.3 <0.1 26

JrABE  (HesL) 11 11 4.0 6.8 11 4.0 8.2

clI- (mg/L) 13 13 15 15 15 13 14
| Fe (mg/L) 0.32 0.43 0.38 0.81 0.81 0.32 0.49
1@ D—Fe (mgrsL)| <005 | <005 | <005 | <0.05 <0.05 <0.05 <0.05

EC (mS./m) 16.2 18.2 19.4 17.4 19.4 16.2 17.8
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BK : BORTIRIRER

th = No.20 (3 P E%EIR) e
N EBMBEREHEEY 4 —

RAEAE 58238| 8H22E| 11A21H| 2A20H

R K EF %I 11:00 11:00 11:00 10:53 Bx b FH

P 3 i & ] : ]

] cc) 29.0 31.8 18.0 8.5

FREUK R (m) 0.5 0.5 0.5 0.5

2KFE (m) 1.2 1.2 1.0 1.2

EHHE (m) 0.6 0.4 0.5 0.4 0.6 0.4 0.5
— | XkE cc) 22.0 30.5 13.0 6.2 30.5 6.2 17.9
f; p H 9.0 8.6 75 7.4 9.0 7.4 8.1
B| po (mg/L) 13.2 8.9 6.6 11.0 13.2 6.6 9.9

DO (%) 151 119 62 89 151 62 105

cCoOD (mg./L) 7.2 9.2 5.2 49 9.2 4.9 6.6

BOD (mg/L) 5.0 5.6 1.6 1.1 5.6 1.1 3.3

SSs (mg/L) 22 28 23 29 29 22 25

KXip#E B (MPN100mL)| 4.9E+03 | 2.8E+03 | 7.0E+02 | 2.4E+02 | 4.9E+03| 24E+02| 2.2E+03

NH,—N meg L) | <0.01 <0.01 0.26 <0.01 0.26 <0.01 0.07

NO,—N (mg-L) | 0.019 0.002 0.019 0.007 0.019 0.002 0.012
#2| NOz—N (mg/L) 0.41 <0.01 0.63 1.1 1.1 <0.01 0.71
E Org-N (mg./L) 0.85 0.97 0.49 0.47 0.97 0.47 0.70
| T-N (mg/L) 1.3 0.97 1.4 1.6 1.6 0.97 1.3

PO,—P (mg-L) | 0.009 0.041 0.008 0.014 0.041 0.008 0.018

T—P (mg/L) 0.11 0.15 0.082 0.11 0.15 0.08 0.11

hon74ha (Mg L) 52 68 20 14 68 14 39
2| 4on74eb (Mg L) 1.1 5.0 2.8 1.3 5.0 1.1 2.6
fﬁ pmazihe (Mg sL) 8.3 <0.1 6.3 1.2 8.3 <0.1 5.3

JIABE  (HWesL) 16 15 8.7 13 16 8.7 13.2

cl- (mg/L) 15 15 16 16 16 15 15
| Fe (mg/L) 0.50 0.75 0.56 1.1 1.1 0.50 0.73
10% D—Fe (mgrsL)| <005 | <005 | <005 | <0.05 <0.05 <0.05 <0.05

EC (mS./m) 17.5 19.1 19.2 17.6 19.2 17.5 18.4
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